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sin bxdx =

—2cos — :Ud:c =

—— SABBORA AR (p116) ——
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/ sin xdx =
/ coszdr =

F-EHa#£0,0bI2
/sin(ax +b)dx =

/cos(am +b)dx =

DWT
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sin Acos B = —(sin(A + B) +sin(A — B))

N |

1
sin Asin B = —§(cos(A + B) —cos(A — B))

—_

cos Acos B = —(cos(A + B) + cos(A — B))

DO |

a. /sin bz sin 3xdx =
b. /sin 3z cos2xdxr =
c. /COS2 Ty =
2
d. /sin2(:1: + )dzx =
e. /cos(B:z: — 2) cos(2z + 3)dx =

f. /sin(a: + 1) cos(3 — 2x)dz =
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a. /simazcos2 xdxr =

b. /sin3 x cosxdr =

C. /(sin2 x — sin x) cos zdx =

1 1
d. : dr =
/ tan*z cos?z
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/ sin® z cos® zdx =

- R ~N

[ fata)g @)do = [ slatnilg(e)
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a./—dx:

T

1

1
) dxr =
c/x_lx
d./ 1 dr =

T+ 3

e. /ﬁdx:

1 1
/—d:p = —arctanE +C
a? + x? a a
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t:g(x)_k AN / f(t)dt
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1 a+1

/a:“dx: a—i—lm +C (a# 1)

log |z| + C (a=-1)

\_ J
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2x
) dr =
a/a:2+4x

2(x —2) B
b./1+(m_2)2daz—
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/3x2—2x—|—3
a. dr =
2+ 1

20 + 3
b./x2+4da:—

C. r =
2 + 2 + 2

2z + 3
d. dr =
/x2—2x+4 v
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a. -

(x —3)(x —2)
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x—3+x
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b r—1
(2= 2)(w + 102
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/\/mdazzlog]x+\/x2+A|+C’
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dx =

1
a.
/\/x2+3

dx =

/ 1
C. dx =
V2 +2x—1
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a. (23 — 222 + 2)" =
b. (z?logz)"” =

c. (sin2x)®) =

RV ECHE S

F (@) = TR f(x) % n HH5)
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fla) = £0) + 7 1(,0 Loy 110 2(!0) z?
(n)
_|_..._|_f '(O)xn_'_.”
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a. et O~vzrzua—1) VERZRDLI W,

b.vV1+xz % 2RANTEMLRI V.

c. cos3x & 2IRANTELL R I\,



